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Page
98/06/22 GTS-600 BF0287 SONODA
23 696 mmHg
B-R10 1.500 m B=P=C 30.0
09:30
r 1 B-R9 0 231 0 0O
2 B-Rl1 148 37 51 148 35 20 43 3 -3
3 B-R12 199 32 55 199 30 24 51 7 -3
| 3 19 33 14 199 30 27
2 328 38 0 148 35 23
1 180 2 37 0 0O
| 1 2710 4 7 0 0O
2 58 39 31 148 35 24 46 -2
3 109 34 33 199 30 26 44 -8
r 3 289 34 16 199 30 18
2 238 39 20 148 35 22
1 90 3 58 0 0O
@ @
< 7 room m m mm mm
B-R9 94 26 30 8 1.500
265 33 24
359 59 54
B-R11 83 22 8 1.500 37.458 37.458 0
276 37 38 37.459 37.458 1 1
359 59 46
B-R12 83 54 28 1.500 39.548 39.549 1
276 5 23 39.548 39.548 0 1
359 59 51
09:38
< 7 < 7 m m
B-R9 0 0O -4 26 33 1.500
B-R11 148 35 22 + 6 37 45 1.500 37.458

B-R12 199 30 24 +6 527 1.500 39.548
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B-R10 1.500 m

B-R9 0 0O -4 26 33 1.500

B-R11 148 35 22 + 6 37 45 1.500 37.458
B-R12 199 30 24 +6 527 1.500 39.548
B-R9 0 0O -4 26 44 1.500

B-R11 148 35 24 + 6 37 50 1.500 37.459
B-R12 199 30 27 +6 520 1.500 39.548
B-R9 - 11 --
B-R11 -2 -5 -1
B-R12 -3 7 0
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98/06/22
B-R19
09:52
0= r 1 A-R1
2 B-R18

| 2

1

0= 1 1

2

r 2

1
r A-R1 97 15 20
| 262 44 28
359 59 48
r B-R18 88 5 27
| 271 54 22
359 59 49

09:56

A-R1
B-R18

GTS-600

1.500 m

(=

0 231
121 13 28
301 13 33
180 2 34

270 4
31 15
211 15
90 4

Ol P W W

144 rr

1

(=2 N 44

0 0O
121 10 58

B

rr

1.640

1.500

- 71526
+ 1 54 27

BF0287
20
P=C

(=T O 44

0 0O
121 10 57
121 10 59

0 0O

116

0 0O
12111 O
121 10 56

0 0O

116

@

59.493
59.494

(=T O 44

m
1.640
1.500

Page
SONODA
696 mmHg
28.0
0 -2 2
-4
)
m mm mm
59.493 0
59.494 0 1
m
59.494

28



Page 29

B-R19 1.500 m
A-R1 000 -71526 1.640
B-R18 121 10 58 +1 54 27 1.500 59.494
A-R1 000 -715 0 1.640
B-R18 121 10 54 +1 54 22 1.500 59.493
A-R1 -- -26 --
B-R18 4 5 1






